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Oldd meg a valós számok halmazán a következ� egyenleteket! Ellen�rizd válaszod helyességét! 
 
 
 
 x + y = 5 x2 + y2 = 25 x2 – y = 0 
 xy = 6 x – y = –1 x – y = –2 
 
  
 x2 + xy = 14 x2 – y2 = 16 
 x – y = –3 x – y = 2 
 
 
 x + y = 7 x2 + y2 = 20 x2 – y = 23 
 xy = 12 x – y = –2 x – y = 3 
 
  
 x2 + xy = 10 x2 – y2 = 5 
 x – y = 2 x – y = 1 
 
 
 
 x + y = 6 x2 + y2 = 29 x2 – y = 22 
 xy = 8 x – y = 3 x – y = 2 
 
  
 x2 + xy = 3 x2 – y2 = –7 
 x – y = 1 x – y = –1 
 
 
 
 x + y = 7 x2 + y2 = 36 x2 – y = 7 
 xy = 10 x – y = 2 x – y = 1 
 
  
 x2 + xy = 21 x2 – y2 = 12 
 x – y = –1 x – y = 2 
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